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SECTION A

Answer all questions in the spaces provided.

1 A 0.263 g sample of impure iron, containing an unreactive impurity, was reacted with an

excess of hydrochloric acid. All of the iron in the sample reacted, evolving hydrogen gas

and forming a solution of iron(IT) chloride. The volume of hydrogen evolved was 102 cm?,

measured at 298K and 110kPa.
The percentage, by mass, of iron in the sample can be determined using either the volume of
hydrogen produced or by titrating the solution of iron(II) chloride formed against a standard

solution of potassium dichromate(VI).

(a) (i) Write an equation for the reaction between iron and hydrochloric acid.

(ii1)) Use your answers to parts (a)(i) and (ii) to determine the number of moles of iron
and the mass of iron in the original sample.
(If you have been unable to complete part (a)(ii) you should assume the answer
to be 4.25 x 10> mol. This is not the correct answer.)
MOLES Of TFOM ..ottt

MASS OF TFOM .ottt ettt e et e e et e e s e e e nae e e ssaaeenseeenseesanes

(iv) Calculate the percentage of iron in the original sample.

(7 marks)

www.theallpapers.com


http://www.xtremepapers.net

€0T [40) TOT 00T 66 86 L6 96 S6 6 €6 6 16 06 e
wnouameT | WNIRQON | WNIASjRpUaN | winiwa4 | wnu@isulg | wniuioyed | wniayiag | wnun)d | wnpuawy | wniuoinld | wniumdaN | wniueln | wnupoelold |  wnuoy
ssplundy £0T — 08 -
g ON PN wo s3 10 nd wo wy nd dN N ed uL @
(092) (652) (852) (L52) (zs2) 1252 T L2 TLv2 TEve T6E2 0/€2 0'8€z 01€ET o'eee s
1L 0L 69 89 19 99 G9 79 €9 29 19 09 6S 89 Q.
wnpeNg | wnigusnA | wninyL wniou3 wniwjoH |wnsoidsAg| wnigial | wniuopes | wnidong | wnuewes | wniydwold [ wniwApoaN | wniwApoaseld |  wnuad sepiueyue] T/ — %L
ni aA wl 13 OH Aa alL PO n3 ws wd PN id 90 =
0'S.T 0'€LT 6'89T €197 69T G297 6'8ST €',S9T 0'¢ST 7°0ST 6’71 44" 6°0vT T0vT %
<
=
i 68 88 bk
wniunoy wnipey wnRUBH
oy ey 1=
YXAA 0'9¢¢ 0'€C:
98 g8 78 €8 Z8 18 08 6. 8. L 9/ =7 v, €L cL| % A 99 G
uopey aupeisy | wnuojod | yinwsig pea wnyreyl | Anosey ploo wnuire|d wnipu| wniwso | wnuayy | uasbunl | wnpeuel | wnujeH |wnueyue |  wnueg wnisae)
uy v Ood d ad IL BH ny d 1] SO 9y M el IH e ed 530
0'cec 00T 00T 0'60¢ 2'L0¢ ¥'v0c 9°00¢ 0',6T 1961 2'¢6T 2’061 2’981 6'€8T 6°08T S'8.T 6'8ET €'LET 6'CE
£ €9 [A°] TS 0s 6V 8 yA% 14 1% 14% 1317 l4% 144 (0% 6€ 8¢ L
uouay auIpo| wnunyaL | Auownuy url wnipu| wniwped IENS wnipejred | wnipoyy |wniuayinyg | wniauydal | WnuspgAloN | WNIGOIN | wnuodiz | wnupA wnipuons | wnipigny
ax | 9l as us ul PO by pPd yd ny a1 O\ aN 1z A 1S aqd
E'TET 6'9¢T 9',CT 8'TCT L'8TT 8VTT 7'eTT 6°,0T 90T 6'¢0T T'TOT 6'86 6'96 6'¢6 Z'T6 6'88 9.8 GG
9€ g€ 143 €e (43 T€ o€ 6¢ 8¢ yx4 9¢ Ge ve €¢ (44 T¢C 014 6
uoldAsy aulwolg | wniusjas olUssSlY |wnuewlss | wnieo oulz Jaddo) 1932IN 1eqod uol| asauebuel\ | wnNiwolyD | wnipeueA | wniuel] | wnipueds | wnpe) | Wnisseloc
I id 9S SY 99 =) uz no IN 0D k| UN 10 AN I IS eD A
8'€8 6°6L 0'6L 67, 9'¢L 1’69 ¥7'G9 G'€9 1’859 6'8S 8'9S 6'vS 0'¢S 6'0S [SWA% 0'Sy T°0v T°6
8T LT 9T ST VT €T et T
uoBay auLo|yo Jnydins  [snioydsoyd| uoaiis wniuiwnpy wnisaubepy | wnipos
I 12 S d IS \ BN eN
6'6€ §'Ge T'¢ce 0'1e 1'8¢ 0L¢c £V 0'€
0T 6 8 L 9 S €——— Jaquinu diwole 14 {
uoaN auuon|4 uabAxo uabonN uogred uolog wniyn wniAleg wniyn
SN 4 O N 0] d 1 °d 1
2'0¢ 06T 09T 0¥l 0'¢ct 8'0T 69— SSeu Jlwole aAlle|al 0'6 6
z .
wnijaH A uabolpAH
S}
oH > H
oYy 0"
0 A INA AN Al " I _

‘uonsonb [enpraIpur ue ur OSIMIAYIO
Po3eIS SSO[UN UOTIBUTIWEXS Y} UI SN I0J It 9[qe) 9Y) UI UMOYS SISSUW JTWO)e dATje[aI ojewrxoidde pue stoquinu orwoje oy, MW

Sluswsa|3 8y} Jo 9|geL dIpoliad 8yl


http://www.xtremepapers.net

Gas constant R = 8.31 T K~ mol™!

Table 1

Proton n.m.r chemical shift data

Type of proton o/ppm
RCH, 0.7-1.2
R,CH, 1.2-1.4
R,CH 1.4-1.6
RCOCH, 2.1-2.6
ROCH, 3.1-3.9
RCOOCH, 3.7-4.1
ROH 0.5-5.0
Table 2

Infra-red absorption data

Bond Wavenumber/cm™!
C—H 2850-3300
c—C 750-1100
C=C 1620-1680
C=0 1680-1750
CcC—O 1000-1300
O—H (alcohols) 3230-3550
O—H (acids) 2500-3000
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(b)

(@)

(i)

Write half-equations for the oxidation of Fe** and for the reduction of Crzogf n
acidic solution, and use these to construct an overall equation for the reaction
between these two ions.

Half-equation for the oxidation of Fe*"

The number of moles of iron in the sample was determined in part (a)(iii). Use
this answer to calculate the volume of a 0.0200 mol dm™ solution of potassium

dichromate(VI) which would react exactly with the solution of iron(II) chloride

formed in the reaction.

(If you have been unable to complete part (a)(iii) you should assume the answer
to be 3.63 x 10 mol. This is not the correct answer.)

(ii1) Explain why an incorrect value for the number of moles of iron(II) chloride

formed would have been obtained if the original solution had been titrated with
potassium manganate(VII).

(7 marks)
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2 The sketch graph below shows how the entropy of a sample of water varies with
temperature.

o

Entropy

0 T I,
Temperature/K

(a) Suggest why the entropy of water is zero at 0 K.

(b) What change of state occurs at temperature 77?

(c) Explain why the entropy change, AS, at temperature 7, is much larger than that at
temperature 77.

(2 marks)

(d) Tt requires 3.49kJ of heat energy to convert 1.53 g of liquid water into steam at 373 K
and 100 kPa.

(1) Use these data to calculate the enthalpy change, AH, when 1.00 mol of liquid
water forms 1.00 mol of steam at 373 K and 100 kPa.

www.theallpapers.com
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(i) Write an expression showing the relationship between free-energy change, AG,
enthalpy change, AH, and entropy change, AS.

(ii1)) For the conversion of liquid water into steam at 373 K and 100 kPa,
AG = 0kJ mol ™

Calculate the value of AS for the conversion of one mole of water into steam
under these conditions. State the units.

(If you have been unable to complete part (d)(i) you should assume that

AH = 45.0kImol™!. This is not the correct answer.)

COICULATION oo e et e e e e e e aa e e e e eeeeaaes

(6 marks)

Turn over for the next question
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3 The following scheme shows some reactions of chromium compounds in aqueous solution.

- Reaction 7 5
[Cr(H20)6]” < Cr 07
CH;CH,0OH

+ H,SO04(aq)

Reaction 1

Na;CO; Reaction 6

Zn + H;SOy4(aq)

\

grey-green precipitate A + gas B

Reaction 2 Reaction 4 blue solution D
excess NHj(aq)
[Cr(OH)g]* [Cr(NH3)6]*"
Reaction 3 Reaction 5
excess HoNCH,CH,NH,
CrO; chromium-containing
species C

(a) Identify the grey-green precipitate A and the gas B formed in Reaction 1. Write an
equation for this reaction.

(b) (i) Identify a reagent for Reaction 2.
(i) Deduce the oxidation state of chromium in CrO3~

(ii1) Identify a reagent needed for Reaction 3. Write a half-equation for the
conversion of [Cr(OH)6]3* into CrO3~

REAZENL ... e

Half-equation ...............ccccoeevuveeoiieeciiieieeeee e VW thiesallpap ars o’
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(c) (1) Draw the structure of the chromium-containing species C formed in Reaction 5.
Indicate the charge on species C.

(i) Explain, by reference to the changes in bonding, why the enthalpy change, AH,
in Reaction 5 is close to zero.

(7 marks)

(d) Identify the chromium-containing species present in the blue solution D formed in
Reaction 6 and state the role of zinc in its formation.

Chromium-CONIAINING SPECIES .......cecveeeeeeeeeeieeeeieeesieeesteeesseeesseeessaeesseeesseesssseeensseesneens

) (0] 01 1 TSRS
(2 marks)

(e) Two organic compounds are formed in Reaction 7. One of these compounds has a low
boiling point and can be distilled readily from the reaction mixture. The other
compound has a higher boiling point and is the main organic product formed when the
reaction mixture is refluxed.

(1) Identify the organic product which has a low boiling point.

www.theallpa pgré’.lggks
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4 A sealed flask containing gases X and Y in the mole ratio 1:3 was maintained at 600 K until
the following equilibrium was established.

X(g) + 3Y(g) =— 2Z(g)

The partial pressure of Z in the equilibrium mixture was 6.0 MPa when the total pressure
was 22.0 MPa.

(@) (i) Write an expression for the equilibrium constant, K, for this reaction.

(i1) Calculate the partial pressure of X and the partial pressure of Y in the
equilibrium mixture.

Partial PreSSure Of X ...ccuoeoee oottt snaa e
Partial presSure Of Y.....eeeuee ettt et

(iii) Calculate the value of K, for this reaction under these conditions and state its
units.

Value Of Ky ..o,

(6 marks)

(b) When this reaction is carried out at 300K and a high pressure of 100 MPa, rather than
at 600K and 22.0 MPa, a higher equilibrium yield of gas Z is obtained.

Give two reasons why an industrialist is unlikely to choose these reaction conditions.

(2 marks)
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5 Use the data in the table below, where appropriate, to answer the questions which follow.

Standard electrode potentials E/IV
Fe¥'(aq) + ¢ —> Fe'(aq) +0.77

Cly(g) + 2¢¢ —> 2CI(aq) +1.36

2BrO3(aq) + 12H'(aq) + 106 —> Bry(aq) + 6H,O(1) +1.52
03(g) + 2H'(aq) + 26 —> Oy(g) + HyO(D) +2.08
F,O(g) + 2H'(aq) + 46° —> 2F (aq) + H,0O()) +2.15

Each of the above can be reversed under suitable conditions.

(a) (1) Identify the most powerful reducing agent in the table.

(ii1)) Identify all the species in the table which can be oxidised in acidic solution by
BrO3(aq).

(4 marks)

(b) The cell represented below was set up.
Pt|Fe®"(aq), Fe*(aq) || BrO3(aq), Bra(aq) | Pt
(1) Deduce the e.m.f. of this cell.

(i1) Write a half-equation for the reaction occurring at the negative electrode when
current is taken from this cell.

(iii) Deduce what change in the concentration of Fe*>*(aq) would cause an increase in
the e.m.f. of the cell. Explain your answer.

Change in CONCENIFALION .............coieieiiiiiieiee ettt

EXPIANAIION ...ttt
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There are no questions printed on this page
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SECTION B

Detach this perforated sheet.
Answer all questions in the space provided on pages 15 to 24 of this booklet.

(a)

(b)

(c)

(d)

(e)

(1) Write an equation for the reaction of ammonia with water. Explain how, in this
reaction, ammonia behaves as a Bronsted-Lowry base. Draw the shape of the
species formed from ammonia.

(i) Write an equation for the reaction of ammonia with boron trifluoride. Explain
how, in this reaction, ammonia behaves as a Lewis base. Draw the shape of the

species formed.
(6 marks)

Outline the mechanism for the addition-elimination reaction between ammonia and an

acyl chloride. Name the organic product formed in the reaction you have given.
(5 marks)

Amines can be made by the reaction between a haloalkane and ammonia. Explain

why, in an excess of ammonia, a primary amine is the major organic product.
(2 marks)

When ammonia reacts with potassium metal, a redox reaction occurs. Hydrogen and
NHj; ions are produced.

Write a half-equation for the formation of hydrogen and NH; ions from ammonia. Use
this to deduce an overall equation for the reaction between potassium and ammonia.

(2 marks)
Boiling point data for three hydrides are given in the table below.
Hydride M Boiling point/K
Methane 16 91.1
Ammonia 17 240
Water 18 373
Explain why these three hydrides have very different boiling points. (4 marks)

www.theallpapers.com
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(2)

(b)

(©)

(d)

(2)

(b)

(©)

(2)

(b)

Explain why the melting point of magnesium chloride is much higher than the melting
point of silicon tetrachloride. (5 marks)

Suggest why the melting point of magnesium oxide is much higher than the melting
point of magnesium chloride. (2 marks)

Magnesium oxide and sulphur dioxide are added separately to water. In each case
describe what happens. Write equations for any reactions which occur and state the
approximate pH of any solution formed. (6 marks)

Write equations for two reactions which together show the amphoteric character of
aluminium hydroxide. (4 marks)

State the trend in the reducing power of the halide ions ClI" to I".
Identify all the reduction products formed when solid sodium iodide reacts with

concentrated sulphuric acid. Write an overall equation for one of these redox reactions.
(6 marks)

Outline a mechanism for the formation of a chloroalkane by the reaction between an
alkane and chlorine. (3 marks)

Name and outline a mechanism for the reaction of a chloroalkane with benzene in the
presence of anhydrous aluminium chloride. (5 marks)

Explain why the reaction between sodium ethanedioate, Na,C,0y4, and potassium
manganate(VII) in acidified aqueous solution is initially slow but gradually increases
in rate. Write equations to illustrate your answer. (6 marks)

State what is meant by the term active site as applied to a heterogeneous catalyst.
Explain how the number of active sites can be increased for a given mass of catalyst.

The efficiency of a heterogeneous catalyst often decreases during use. Explain, using a
specific example, why this happens. (4 marks)

END OF QUESTIONS
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